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© (3x+4) (3x+2) @ (bx+6y)’
® (2x—3y)? @ (4x+5y) (4x—5y)
® (—7x—6y)? ® (8+2x)(8—2x)
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O 205%195 @ 92

® 1107 @ 201x198
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@ (3x+4) (3x+2)
= (3x)%+ (4+2) x3x+4x%x2
=0x*+18x+8
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® (2x—3y)?
= (2x)?—2%x3yx2x+ (3y)?
=4x*— 12xy + 9y*

® (=7x—6y)?
= (=Tx)?=2%X6yx (=7x) + (6y)°
= 49x* + 84xy + 36)°

KROXZELTRLTEELZ S,

@ 205x%195
= (200+5) (200-5)
=200 - 5°
= 40000 — 25
= 39975

® 110
= (100+10)*
=100%*+2x 10 % 100 + 10?
=10000 + 2000 + 100
=12100
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@ (bx+6y)’
= (5x)*+2x 6y x5x+ (6y)°
= 25x* + 60xy + 36y°

@ (4x+5y) (4x—5y)
= (4x)*— (5y)”
= 16x>— 25)”

® (8+2x)(8—2x)
=8%— (2x)°
=64 — 4x°

@ 92°
= (100—-8)*
=100*-2x 8% 100 + &
=10000 — 1600 + 64
= 8464

@ 201x198
= (200+1) (200-2)
=200*+ {1+ (=2) } x200+1x (—-2)
= 40000 — 200 — 2
= 39798
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